

City of Clearwater

Public Utilities

Richard Gardner, Department Director

100 South Myrtle Avenue, Clearwater, FL 33756

[C&T CONTRACTING SERVICES, LLC] RESPONSE DOCUMENT REPORT

ITB No. 23-0045-UT

NE WRF Sand Filters Rehab

RESPONSE DEADLINE: July 23, 2025 at 2:00 pm Report Generated: Tuesday, August 5, 2025

C&T Contracting Services, LLC Response

CONTACT INFORMATION

Company:

C&T Contracting Services, LLC

Email:

ctcontractingservicesllc@gmail.com

Contact:

Christopher Telson

Address:

11023 Countryway Blvd.

Tampa, FL 33626

Phone:

N/A

Website:

 $\underline{www.ctcontractinggroup.com}$

Submission Date:

Jul 23, 2025 1:54 PM (Eastern Time)

ADDENDA CONFIRMATION

Addendum #1
Confirmed Jul 22, 2025 2:45 PM by Christopher Telson

QUESTIONNAIRE

1. Certified Business*

Are you a Certified Small Business or a Certified Minority, Woman or Disadvantaged Business Enterprise?

No

2. Vendor Certification*

By submitting this response, the Vendor hereby certifies that:

- A. It is under no legal prohibition on contracting with the City of Clearwater.
- B. It has read, understands, and is in compliance with the specifications, terms and conditions stated herein, as well as its attachments, and any referenced documents.
- C. It has no known, undisclosed conflicts of interest.
- D. The prices offered were independently developed without consultation or collusion with any of the other vendors or potential vendors or any other anti-competitive practices.
- E. No offer of gifts, payments or other consideration were made to any City employee, officer, elected official, or consultant who has or may have had a role in the procurement process for the commodities or services covered by this contract. The Vendor has not influenced or attempted to influence any City employee, officer, elected official, or consultant in connection with the award of this contract.
- F. It understands the City may copy all parts of this response, including without limitation any documents or materials copyrighted by the Vendor, for internal use in evaluating respondent's offer, or in response to a public records request under Florida's public

- records law (F.S. Chapter 119) or other applicable law, subpoena, or other judicial process; provided that the City agrees not to change or delete any copyright or proprietary notices.
- G. It hereby warrants to the City that the Vendor and its subcontractors will comply with, and are contractually obligated to comply with, all federal, state, and local laws, rules, regulations, and executive orders.
- H. It certifies that Vendor is not presently debarred, suspended, proposed for debarment, declared ineligible, voluntarily excluded, or disqualified from participation in this matter from any federal, state, or local agency.
- I. It will provide the commodities or services specified in compliance with all federal, state, and local laws, rules, regulations, and executive orders if awarded by the City.
- J. It is current in all obligations due to the City.
- K. It will accept all terms and conditions as set forth in this solicitation if awarded by the City.
- L. The signatory is an officer or duly authorized representative of the Vendor with full power and authority to submit binding offers and enter into contracts for the commodities or services as specified herein.

Confirmed

3. E-Verify System Certificattion*

PER FLORIDA STATUTE 448.095, CONTRACTORS AND SUBCONTRACTORS MUST REGISTER WITH AND USE THE E-VERIFY SYSTEM TO VERIFY THE WORK AUTHORIZATION STATUS OF ALL NEWLY HIRED EMPLOYEES.

The affiant, by virtue of confirming below, certifies that:

- A. The Contractor and its Subcontractors are aware of the requirements of Florida Statute 448.095.
- B. The Contractor and its Subcontractors are registered with and using the E-Verify system to verify the work authorization status of newly hired employees.
- C. The Contractor will not enter into a contract with any Subcontractor unless each party to the contract registers with and uses the E-Verify system.

- D. The Subcontractor will provide the Contractor with an affidavit stating that the Subcontractor does not employ, contract with, or subcontract with unauthorized alien.
- E. The Contractor must maintain a copy of such affidavit.
- F. The City may terminate this Contract on the good faith belief that the Contractor or its Subcontractors knowingly violated Florida Statutes 448.09(1) or 448.095(2)(c).
- G. If this Contract is terminated pursuant to Florida Statute 448.095(2)(c), the Contractor may not be awarded a public contract for at least 1 year after the date on which this Contract was terminated.
- H. The Contractor is liable for any additional cost incurred by the City as a result of the termination of this Contract.

Confirmed

4. Scrutinized Company Certification*

Please download the below documents, complete, and upload.

- SCRUTINIZED COMPANIES AND B...
- 4. Scrutinized Company Cert.pdf

5. Compliance with Anti-Human Trafficking Laws*

Please download the below documents, complete, and upload.

- Compliance with 787.06 form...
- 5. Compliance Anti Human Trafficking.pdf

6. Section V - Contract Documents*

Please download the below documents, complete, and upload.

Section V - Contract Docume...

6. C&T Bid Bond.pdf

Proposal.pdf

6._Non_Collusion_Affidavit.pdf Affidavit.pdf

7. W-9*

Upload your current W-9 form. (available at https://www.irs.gov/pub/irs-pdf/fw9.pdf)

C&T_W-9.pdf

PRICE TABLES

NE WRF SAND FILTERS REHAB

23-0045-UT

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
I. GENERAL					
1	Mobilization and Demobilization	1	LS	\$260,000.00	\$260,000.00
2	Indemnification	1	LS	\$10.00	\$10.00
3	General Requirements	1	LS	\$109,000.00	\$109,000.00
II. FILTER CLEA	ANING				
4	Filter Media and Debris Removal, Hauling, Disposal	180	Ton	\$970.00	\$174,600.00
5	Filter Cell Cleaning	10,000	SF	\$1.30	\$13,000.00
III. FILTER INS	PECTIONS				1

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
6	Filter Inspections - Filter Equipment Manufacturer	13	EA	\$4,938.00	\$64,194.00
IV. CONCRETE	EREPAIR			'	
7	Crack Repairs - Epoxy Injection	75	LF	\$123.00	\$9,225.00
8	Concrete Surface Rehab - Level 1 Repair	900	SF	\$25.00	\$22,500.00
9	Concrete Surface Rehab - Level 2 Repair	200	SF	\$208.00	\$41,600.00
10	Concrete Surface Rehab - Level 3 Repair	150	SF	\$264.00	\$39,600.00
11	Concrete Surface Rehab - Level 4 Repair	30	SF	\$1,368.00	\$41,040.00
12	Spall Repair at Floor	5	SF	\$712.00	\$3,560.00
13	Protective Coatings	9,000	SF	\$50.00	\$450,000.00
V. FILTER REH	IABILITATION			l	1
14	Furnish and Install I-Beam Hold Down Assemblies (Including Fasteners & Hardware)	12	EA	\$743.00	\$8,916.00
15	Furnish and Install Hold Down Clip Angles (Including Fasteners & Hardware)	360	EA	\$154.00	\$55,440.00
16	Furnish and Install Wire Mesh Screen	60	EA	\$723.00	\$43,380.00
17	Furnish and Install 1/8"x1" Core Sealing Gasket (100' Roll)	10	EA	\$625.00	\$6,250.00
18	Furnish and Install 3/16"x3" Closed Cell Neoprene Gasket (50' Roll)	48	EA	\$503.00	\$24,144.00
19	Furnish and Install Long Loose Perimeter Angles	120	EA	\$461.00	\$55,320.00

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
20	Furnish and Install Short Loose Perimeter Angles	120	EA	\$593.00	\$71,160.00
21	Furnish and Install Hold Down I-Beam	360	EA	\$1,234.00	\$444,240.00
22	Furnish and Install Level Sensors	24	EA	\$558.00	\$13,392.00
23	Kit-Holddown	360	EA	\$74.00	\$26,640.00
24	Backwash Trough Support Angle	12	EA	\$656.00	\$7,872.00
25	Backwash Trough Support Tabs	96	EA	\$872.00	\$83,712.00
26	Level Existing V-Notch Weir	144	EA	\$54.00	\$7,776.00
27	Furnish and Install Filter Media	180	Ton	\$1,448.00	\$260,640.00
VI. VALVES				'	
28	Replace Existing 20-Inch Backwash Effluent Trough Valve	12	EA	\$28,917.00	\$347,004.00
29	Replace Existing 20-Inch Backwash Effluent Trough Actuator	12	EA	\$28,412.00	\$340,944.00
30	Replace Existing 18-Inch Inlet Trough Valve	10	EA	\$24,578.00	\$245,780.00
ITEM DESCRI	PTION				
31	Replace Existing 18-Inch Inlet Trough Actuator	12	EA	\$21,000.00	\$252,000.00
32	Replace Existing 18-Inch Backwash Inlet Valve	8	EA	\$25,000.00	\$200,000.00
33	Replace Existing 18-Inch Backwash Inlet Actuator	12	EA	\$21,938.00	\$263,256.00

Line Item	Description		Unit of Measure	Unit Cost	Total
34	Replace Existing 18-Inch Filtrate Valve	8	EA	\$29,421.00	\$235,368.00
35	Replace Existing 18-Inch Filtrate Actuator	12	EA	\$18,000.00	\$216,000.00
36	Replace Existing 16-Inch Effluent Pump Check Valve	2	EA	\$48,385.00	\$96,770.00
37	Replace Poly Tubing for Pneumatic Actuators	3,000	LF	\$9.00	\$27,000.00
38	Install 1/2" Push to Connect X 1/2" Straight Fitting for Connection to New Actuator	72	EA	\$303.00	\$21,816.00
VII. AIR PIPIN	G & DIFFUSERS	I			
39	Remove Existing 3-Inch GSP Low Pressure Air Manifold & Replace with 3-Inch Type 304 SST Pipe Manifold (30')	16	EA	\$8,223.00	\$131,568.00
40	Furnish and Install PVC Diffusers	240	EA	\$113.00	\$27,120.00
41	Furnish and Install 3-inch Air Manifold SST Supports	24	EA	\$513.00	\$12,312.00
VIII. CHEM CL	EAN SYSTEM	l			
42	Reprogram PLC for Proper Operation of Chemical Cleaning System	1	LS	\$47,538.00	\$47,538.00
IX. GATE REM	IOVAL AND REPLACEMENT	1	1	ı	1
43	Sliding Gate Replacement, Actuator Replacement and Bypass	1	LS	\$170,440.00	\$170,440.00
TOTAL	.1	1	1	1	\$4,972,127.00

CONTINGENCY

10% based on subtotal from lines 1-43 above.

[C&T CONTRACTING SERVICES, LLC] RESPONSE DOCUMENT REPORT ITB No. 23-0045-UT NE WRF Sand Filters Rehab

Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total
44	Contingency (10%)	1	LS	\$497,212.00	\$497,212.00
TOTAL					\$497,212.00

Compliance with Anti-Human Trafficking Laws

Pursuant to Section 787.06 (13), Florida Statutes, this form must be completed by an officer or representative of a non-governmental entity when a contract is executed, renewed, or extended between the non-governmental entity and the City of Clearwater.

The undersigned, on behalf of the entity listed below ("Entity"), hereby attests under penalty of perjury that:

Entity does not use coercion for labor or services as defined in Section 787.06, Florida Statutes.

The un	1	1			
Date: _	July 22	, 20 ²⁵	is form on behalf of Entity. Signed:	2	t
Entity:	C&T Contracting	Services	Name: Chris Telson		
			Title: Operations Mar	nager	

SCRUTINIZED COMPANIES AND BUSINESS OPERATIONS WITH **CUBA AND SYRIA CERTIFICATION FORM**

IF YOUR BID/PROPOSAL IS \$1,000,000 OR MORE, THIS FORM MUST BE COMPLETED AND SUBMITTED WITH THE BID/PROPOSAL. FAILURE TO SUBMIT THIS FORM AS REQUIRED MAY DEEM YOUR SUBMITTAL NONRESPONSIVE.

The affiant, by virtue of the signature below, certifies that:

The vendor, company, individual, principal, subsidiary, affiliate, or owner is aware of the requirements of section 287.135, Florida Statutes, regarding companies on the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleum Energy Sector List, or engaging in business operations in Cuba and Syria; and

The vendor, company, individual, principal, subsidiary, affiliate, or owner is eligible to participate in this solicitation and is not listed on either the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleum Sector List, or engaged in business operations in Cuba and

Syria; and

Business Operations means, for purposes specifically related to Cuba or Syria, engaging in commerce 3. in any form in Cuba or Syria, including, but not limited to, acquiring, developing, maintaining, owning, selling, possessing, leasing or operating equipment, facilities, personnel, products, services, personal property, real property, military equipment, or any other apparatus of business or commerce; and

If awarded the Contract (or Agreement), the vendor, company, individual, principal, subsidiary, affiliate, or owner will immediately notify the City of Clearwater in writing to later than five (5) calendar days after any of its principals are placed on the Scrutinized Companies with Activities in Sudan List, the Scrutinized Companies with Activities in the Iran Petroleum Sector List, or engaged in business operations in Cuba and Syria.

Authorized Signature
Chestale Tels.
Title Mange
Name of Entity/Corporation
STATE OF Florida
COUNTY OF Hillsborough
The foregoing instrument was acknowledged before me by means of physical presence or online notarization on, this 22 day of July 2025, by Christopher Telson (name of person whose signature is being notarized) as the Operations Manager (title) of C+T Contracting Services (name of corporation/entity), personally known , or produced N/A (type of identification) as identification, and who did/did not take
HANNAH LAMON Notary Public - State of Florida Commission # HH 658387 My Comm. Expires Mar 30, 2029 Bonded through National Notary Assn. Printed Name

My Commission Expires: 3/30/2079 NOTARY SEAL ABOVE

CONTRACT

This **CONTRACT** made and entered into this ___ day of _____, 20__ by and between the City of Clearwater, Florida, a municipal corporation, hereinafter designated as the "City", and C&T Contracting Services, of the City of Tampa County of Hillsborough and State of Florida, hereinafter designated as the "Contractor".

WITNESSETH:

That the parties to this contract each in consideration of the undertakings, promises and agreements on the part of the other herein contained, do hereby undertake, promise, and agree as follows:

The Contractor, and his or its successors, assigns, executors or administrators, in consideration of the sums of money as herein after set forth to be paid by the City and to the Contractor, shall and will at **their** own cost and expense perform all labor, furnish all materials, tools and equipment for the following:

PROJECT NAME: NE WRF Sand Filters Rehab

PROJECT NO.: 23-0045-UT

in the amount of \$5,469,339

In accordance with such proposal and technical supplemental specifications and such other special provisions and drawings, if any, which will be submitted by the City, together with any advertisement, instructions to bidders, general conditions, technical specifications, proposal and bond, which may be hereto attached, and any drawings if any, which may be herein referred to, are hereby made a part of this contract, and all of said work to be performed and completed by the contractor and its successors and assigns shall be fully completed in a good and workmanlike manner to the satisfaction of the City.

If the Contractor should fail to comply with any of the terms, conditions, provisions or stipulations as contained herein within the time specified for completion of the work to be performed by the Contractor, then the City, may at its option, avail itself of any or all remedies provided on its behalf and shall have the right to proceed to complete such work as Contractor is obligated to perform in accordance with the provisions as contained herein.

CONTRACT

(2)

THE CONTRACTOR AND HIS OR ITS SUCCESSORS AND ASSIGNS DOES HEREBY AGREE TO ASSUME THE DEFENSE OF ANY LEGAL ACTION WHICH MAY BE BROUGHT AGAINST THE CITY AS A RESULT OF THE CONTRACTOR'S ACTIVITIES ARISING OUT OF THIS CONTRACT AND FURTHERMORE, IN CONSIDERATION OF THE TERMS, STIPULATIONS AND CONDITIONS AS CONTAINED HEREIN, AGREES TO HOLD THE CITY FREE AND HARMLESS FROM ANY AND ALL CLAIMS FOR DAMAGES, COSTS OF SUITS, JUDGMENTS OR DECREES RESULTING FROM ANY CLAIMS MADE UNDER THIS CONTRACT AGAINST THE CITY OR THE CONTRACTOR OR THE CONTRACTOR'S SUB CONTRACTORS, AGENTS, SERVANTS OR EMPLOYEES RESULTING FROM ACTIVITIES BY THE AFOREMENTIONED CONTRACTOR, SUB CONTRACTOR, AGENT SERVANTS OR EMPLOYEES, TO THE LIMITS OF § 725.06(2).

In addition to the foregoing provisions, the Contractor agrees to conform to the following requirements:

In connection with the performance of work under this contract, the Contractor agrees not to discriminate against any employee or applicant for employment because of race, sex, religion, color, or national origin. The aforesaid provision shall include, but not be limited to, the following: employment, upgrading, demotion, or transfer; recruitment or recruitment advertising; lay off or termination; rates of pay or other forms of compensation; and selection for training, including apprenticeship. The Contractor agrees to post hereafter in conspicuous places, available for employees or applicants for employment, notices to be provided by the contracting officer setting forth the provisions of the non-discrimination clause.

The Contractor further agrees to insert the foregoing provisions in all contracts hereunder, including contracts or agreements with labor unions and/or worker's representatives, except sub-contractors for standard commercial supplies or raw materials.

It is mutually agreed between the parties hereto that time is of the essence of this contract, and in the event that the work to be performed by the Contractor is not completed within the time stipulated herein, it is then further agreed that the City may deduct from such sums or compensation as may be due to the Contractor the sum of \$1,000.00 per day for each day that the work to be performed by the Contractor remains incomplete beyond the time limit specified herein, which sum of \$1,000.00 per day shall only and solely represent damages which the City has sustained by reason of the failure of the Contractor to complete the work within the time stipulated, it being further agreed that this sum is not to be construed as a penalty but is only to be construed as liquidated damages for failure of the Contractor to complete and perform all work within the time period as specified in this contract.

It is further mutually agreed between the City and the Contractor that if, any time after the execution of this contract and the public construction bond which is attached hereto for the faithful performance of the terms and conditions as contained herein by the Contractor, that the City shall at any time deem the surety or sureties upon such public construction bond to be unsatisfactory or if, for any reason, the said bond ceases to be adequate in amount to cover the performance of the work the Contractor shall, at his or its own expense, within ten (10) days after receipt of written notice from the City to do so, furnish an additional bond or bonds in such term and amounts and with such surety or sureties as shall be satisfactory to the City. If such an event occurs, no further payment shall be made to the Contractor under the terms and provisions of this contract until such new or additional security bond guaranteeing the faithful performance of the work under the terms hereof shall be completed and furnished to the City in a form satisfactory to it.

CONTRACT (3)

In addition to all other contract requirements as provided by law, the contractor executing this agreement agrees to comply with public records law.

IF THE CONTRACTOR HAS QUESTIONS REGARDING THE APPLICATION OF CHAPTER 119, FLORIDA STATUTES, THE CONTRACTORS DUTY TO PROVIDE PUBLIC RECORDS RELATING TO THIS CONTRACT. CONTACT THE CUSTODIAN OF PUBLIC RECORDS, Rosemarie Call, City Clerk, at Rosemarie.Call@myclearwater.com, 727-562-4092, 600 Cleveland St., 6th Floor, Clearwater, FL 33756.

The contractor's agreement to comply with public records law applies specifically to:

a) Keep and maintain public records required by the City of Clearwater (hereinafter "public agency") to perform the service being provided by the contractor hereunder.

b) Upon request from the public agency's custodian of public records, provide the public agency with a copy of the requested records or allow the records to be inspected or copied within a reasonable time at a cost that does not exceed the cost provided for in Chapter 119, Florida Statutes, as may be amended from time to time, or as otherwise provided by law.

c) Ensure that the public records that are exempt or confidential and exempt from public records disclosure requirements are not disclosed except as authorized by law for the duration of the contract term and following completion of the contract if the contractor does not transfer the

records to the public agency.

d) Upon completion of the contract, transfer, at no cost, to the public agency all public records in possession of the contractor or keep and maintain public records required by the public agency to perform the service. If the contractor transfers all public records to the public agency upon completion of the contract, the contractor shall destroy any duplicate public records that are exempt or confidential and exempt from public records disclosure requirements. If the contractor keeps and maintains public records upon completion of the contract, the contractor shall meet all applicable requirements for retaining public records. All records stored electronically must be provided to the public agency, upon request from the public agency's custodian of public records, in a format that is compatible with the information technology systems of the public agency.

e) A request to inspect or copy public records relating to a public agency's contract for services must be made directly to the public agency. If the public agency does not possess the requested records, the public agency shall immediately notify the contractor of the request and the contractor must provide the records to the public agency or allow the records to be inspected or

copied within a reasonable time.

f) The contractor hereby acknowledges and agrees that if the contractor does not comply with the public agency's request for records, the public agency shall enforce the contract provisions in accordance with the contract.

g) A contractor who fails to provide the public records to the public agency within a reasonable time may be subject to penalties under Section 119.10, Florida Statutes.

h) If a civil action is filed against a contractor to compel production of public records relating to a public agency's contract for services, the court shall assess and award against the contractor the reasonable costs of enforcement, including reasonable attorney fees, if:

1. The court determines that the contractor unlawfully refused to comply with the public records request within a reasonable time; and

CONTRACT

(4)

2. At least 8 business days before filing the action, the plaintiff provided written notice of the public records request, including a statement that the contractor has not complied with the request, to the public agency and to the contractor.

- i) A notice complies with subparagraph (h)2. if it is sent to the public agency's custodian of public records and to the contractor at the contractor's address listed on its contract with the public agency or to the contractor's registered agent. Such notices must be sent by common carrier delivery service or by registered, Global Express Guaranteed, or certified mail, with postage or shipping paid by the sender and with evidence of delivery, which may be in an electronic format.
- j) A contractor who complies with a public records request within 8 business days after the notice is sent is not liable for the reasonable costs of enforcement.

IN WITNESS WHEREOF, the parties to the agreement have hereunto set their hands and seals and have executed this Agreement, the day and year first above written.

CITY OF CLEARWATER

IN PINELLAS COUNTY, FLORIDA (SEAL) By: Jennifer Poirrier Attest: City Manager Countersigned: Rosemarie Call City Clerk Approved as to form: By: Bruce Rector Mayor Owen Kohler Lead Assistant City Attorney Contractor must indicate whether: Company, or Partnership, Corporation, Print Name: (Title: Operations

The person signing shall, in his own handwriting, sign the Principal's name, his own name, and his title; where the person is signing for a Corporation, he must, by Affidavit, show his authority to bind the Corporation – provide Affidavit.

 $\underline{\textbf{AFFIDAVIT}}$ (To be filled in and executed if the bidder is a corporation)

being duly sworn, deposes and says that he she is at C+T Contracting Services irtue of the laws of the State of Florida, and having its
County) (State)
h the records, minute books and by-laws of
is Operations Manager
Proposal for C+T Contracting Services
a provision of by laws or a Resolution of ors. If by Resolution give date of adoption).
Affiant Telson
, 20_25 Hannah Lamon Type/print/stamp name of Notary Project Engineer Title or rank, and Serial No., if any
i

NON-COLLUSION AFFIDAVIT

STATE OF FLORIDA)		
COUNTY OF Hilshort		
Chris les. being,	first duly sworn, deposes and says t	that he is
the party making the foregoing Proposal or Bid; that su said bidder is not financially interested in or otherwise on the same contract; that said bidder has not colluded, co with any bidders or person, to put in a sham bid or that has not in any manner, directly or indirectly, sought conference, with any person, to fix the bid price or affian or cost element of said bid price, or that of any other bid Clearwater, Florida, or any person or persons interested contained in said proposal or bid are true; and furthe submitted this bid, or the contents thereof, or divulged into or to any member or agent thereof.	affiliated in a business way with any off onspired, connived, or agreed, directly or is such other person shall refrain from bid by agreement or collusion, or communated or any other bidder, or to fix any overheader, or to secure any advantage against the din the proposed contract; and that all ser, that such bidder has not directly or	her bidder indirectly, Iding, and ication or ead, profit he City of statements indirectly
Sworn to and subscribed before me this <u>72</u> day of		25. h Lamon
HANNAH LAMON Notary Public - State of Florida Commission # HH 658387 My Comm. Expires Mar 30, 2029 Bonded through National Notary Assn.	Notảry Public	

PROPOSAL (2)

Attached hereto is a bond or certification	fied check on	7/2	3/25				
	Bank,	for the	e sum o	f	· · · · · · · · · · · · · · · · · · ·		
					(\$)
(being a minimum of 10% of Contrac	tor's total bid an	nount).					
The full names and residences of all p	persons and parti	ies intere	ested in th	e foregoi	ng bid ar	e as follow	vs:
(If corporation, give the names and a names and addresses of the members of any person with whom bidder henrichment, employment or possible employer is contingent upon the awar	or partners. The has any type of benefit, wheth	Bidder s agreem er sub-	shall list r nent wher contractor	ot only h	is name person	but also the s improve	e name
NAMES:		ADDRE	SSES:				
Chris Telson		11023	Count	ryway	Blvd.	Tampa	Fl_
Jose Cisneros		11023	Count	ryway	Blvd.	Tampa	Fl.
The person signing shall, in his own Where the person signing for a corp	handwriting, si	gn the P	rincipal's	name, hi	s own na		is title
affidavit, show his authority, to bind				01 11		,	,
Principal: Chris Telson							
By: <u>C&T Contracting Serv</u>	ices	Title: <u>0</u>	perati	ons Ma	nager		
Company Legal Name:C&TCon	tracting S	ervic	es				
Doing Business As (if different than a	above):						
Business Address of Bidder:11023	3 Countryw	ay Bl	vd.				
City and State: Tampa Fl							
Phone: 813-616-3210	Email Address:						
Dated at	, this 22	dav o	f July			, A.D.,	20 2.5

CITY OF CLEARWATER ADDENDUM SHEET

PROJECT: NE WRF Sand Filters Rehab

Acknowledgment is hereby made of the following addenda received since issuance of Plans and Specifications.

Addendum No	Date:
Addendum No	Date:
	C&T Contracting Services
	(Name of Bidder)
	(Signature of Officer)
	Operations Manager
	(Title of Officer)
	7/22/25
	(Date)

Form W-9 (Rev. March 2024) Department of the Treasury Internal Revenue Service

Request for Taxpayer Identification Number and Certification

Go to www.irs.gov/FormW9 for instructions and the latest information.

Give form to the requester. Do not send to the IRS.

Before you begin. For guidance related to the purpose of Form W-9, see Purpose of Form, below. Name of entity/individual. An entry is required. (For a sole proprietor or disregarded entity, enter the owner's name on line 1, and enter the business/disregarded entity's name on line 2.) **C&T Contracting Services, LLC** 2 Business name/disregarded entity name, if different from above. 3 3a Check the appropriate box for federal tax classification of the entity/individual whose name is entered on line 1. Check 4 Exemptions (codes apply only to Specific Instructions on page only one of the following seven boxes. certain entities, not individuals; see instructions on page 3): Partnership Individual/sole proprietor C corporation S corporation Trust/estate Exempt payee code (if any) ✓ LLC. Enter the tax classification (C = C corporation, S = S corporation, P = Partnership) Print or type. Note: Check the "LLC" box above and, in the entry space, enter the appropriate code (C, S, or P) for the tax Exemption from Foreign Account Tax classification of the LLC, unless it is a disregarded entity. A disregarded entity should instead check the appropriate box for the tax classification of its owner. Compliance Act (FATCA) reporting code (if any) Other (see instructions) 3b If on line 3a you checked "Partnership" or "Trust/estate," or checked "LLC" and entered "P" as its tax classification, (Applies to accounts maintained and you are providing this form to a partnership, trust, or estate in which you have an ownership interest, check outside the United States.) this box if you have any foreign partners, owners, or beneficiaries. See instructions Address (number, street, and apt. or suite no.). See instructions. Requester's name and address (optional) 11023 Countryway Blvd. 6 City, state, and ZIP code Tampa, FL 33626 List account number(s) here (optional) **Taxpayer Identification Number (TIN)** Part I Social security number Enter your TIN in the appropriate box. The TIN provided must match the name given on line 1 to avoid backup withholding. For individuals, this is generally your social security number (SSN). However, for a resident alien, sole proprietor, or disregarded entity, see the instructions for Part I, later. For other entities, it is your employer identification number (EIN). If you do not have a number, see How to get a or TIN, later. Employer identification number Note: If the account is in more than one name, see the instructions for line 1. See also What Name and 2 5 8 n 6 0 9 1 Number To Give the Requester for guidelines on whose number to enter. Certification Part II Under penalties of perjury, I certify that: 1. The number shown on this form is my correct taxpayer identification number (or I am waiting for a number to be issued to me); and 2. I am not subject to backup withholding because (a) I am exempt from backup withholding, or (b) I have not been notified by the Internal Revenue Service (IRS) that I am subject to backup withholding as a result of a failure to report all interest or dividends, or (c) the IRS has notified me that I am no longer subject to backup withholding; and 3. I am a U.S. citizen or other U.S. person (defined below); and 4. The FATCA code(s) entered on this form (if any) indicating that I am exempt from FATCA reporting is correct. Certification instructions. You must cross out item 2 above if you have been notified by the IRS that you are currently subject to backup withholding because you have failed to report all interest and dividends on your tax return. For real estate transactions, item 2 does not apply. For mortgage interest paid, acquisition or abandonment of secured property, cancellation of debt, contributions to an individual retirement arrangement (IRA), and, generally, payments

other than interest and dividends, you are not required to sign the certification, but you must provide your correct TIN. See the instructions for Part II, later.

General Instructions

Signature of

U.S. person

Section references are to the Internal Revenue Code unless otherwise noted.

Future developments. For the latest information about developments related to Form W-9 and its instructions, such as legislation enacted after they were published, go to www.irs.gov/FormW9.

What's New

Sign

Here

Line 3a has been modified to clarify how a disregarded entity completes this line. An LLC that is a disregarded entity should check the appropriate box for the tax classification of its owner. Otherwise, it should check the "LLC" box and enter its appropriate tax classification.

New line 3b has been added to this form. A flow-through entity is required to complete this line to indicate that it has direct or indirect foreign partners, owners, or beneficiaries when it provides the Form W-9 to another flow-through entity in which it has an ownership interest. This change is intended to provide a flow-through entity with information regarding the status of its indirect foreign partners, owners, or beneficiaries, so that it can satisfy any applicable reporting requirements. For example, a partnership that has any indirect foreign partners may be required to complete Schedules K-2 and K-3. See the Partnership Instructions for Schedules K-2 and K-3 (Form 1065).

Purpose of Form

Date

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS is giving you this form because they